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occurring in all living cells

Cellular respiration is an exothermic
reaction which is continuously

Anaerobic respiration in plant and yeast cells

The end products are ethanol and carbon
dioxide. Anaerobic respiration in yeast cells is
called fermentation

glucose —> ethanol + carbon dioxide
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This process is economically
important in the manufacture
of alcoholic drinks and bread.

Respiration L18-23

Electron micrograph
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Anaerobic respiration

Aerobic respiration

Respiration when
oxygen is in short
supply. Occurs during
intensive exercise

Respiration with
oxygen. Occurs inside
the mitochondria
continuously

During hard exercise,
muscle cells are
respiring so fast that
blood cannot transport

their needs.

Glucose is partially
oxidised to produce
lactic acid which builds
up in muscle tissue
causing them to
become painful and
fatigued.

enough oxygen to meet

Glucose is oxidised by
oxygen to transfer the
energy the organism
needs to perform it’s
functions.

glucose —= lactic acid
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Anaerobic respiration
releases a much smaller
amount of energy per
glucose molecule than
aerobic respiration.
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60, + CH,,0, — > 6C0O, + 6H,0

glucose + oxygen —> carbon dioxide + water

The incomplete
oxidation of glucose
causes a build up of

lactic acid and creates
an oxygen debt.

Aerobic respiration
releases a large
amount of energy
from each glucose
molecule
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